Iﬁl: ? % @ éﬁ Negativa exponenter pa 10

namn.: Datum: Poing:
4x 107 = 1004 =
1002 = 7% 1009 =
1009 = 1 x 1002 =
380,2 x 100D = 1004 =
8107 = 3% 10° =
—1x10° = 1003 =
266,3 x 1009 = 5% 10 =
6x 107 = 877,1+10° =
100D = 1003 =
3x10= 480,6+ 1002 =
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namn: Datum: Poing:
4 x 107 = 0.004 107 = 0.0001
1072 = 0.01 7% 107% = 0.0007
107 = 0.0001 1x 1072 =0.01
380,2 x 100" =38.02 107 = 0.0001
8 x 107 = 0.0008 3x10°=3
~1x10? = —100 107% = 0.001
266,3 x 107 = 0.02663 5% 10 =50
6 x 107 = 0.0006 877,1+ 10> =8.771
1077 =0.1 107 = 0.001
3% 10 =30 480, 6 + 1072 = 48060
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